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Twior ciroles intersect at A and B.

The lings LM snd PO pass theongh B, with L and P on one cirgle and M and @
on the ofier cirche, a5 shown tn the diagram,

Clopy oF trace thig diagrasm ko your writing booklet.

Show that AXAM = L0,
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2. Two perpendicular chords PQ and XT of o eircle intersect ot Z,

MHOT TO SCALE

Capy or trace the diagram iato your wiiting booklet.

If M is the midpoint of the chord QX prave that MZ produced is perpendicnlar
t the chord PY,
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In the acute-angled triangle ABC, K is the midpeint of AB, L iz the midpoint
of BC and M 15 the midpoint of OA. The dircle shmia gh K, L oand M also cts Ef‘ :
at P as showa in the dizgran.
Copy or tr;;‘tc& e dingram ints your weiting booklet,

(1 Prove that XMELE iz & perallelogrm,

(i) Prove thet SEPB= SEME,

(H)  Prove that AF L AT,
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4, Shown are two ciroles centres B and K which touch at M. PG and fid ara
common tengenty. ’ .

{iy Show that quadrilaterats HPRM aml MRQK are
cyelic,

(i} Prove thet trisngles PRM™ and MEQ are similar:
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5. {&

ARC is an acute-angled trizngle inscribed in s circle, P is 4 point on the minor ave A8
of the circle. 2L and PN ars the parpandicvars from P to Cd (produced) and CF
respectively. LN cuts A8 at M '
{i) Copy the diagram

(i) Explein why ST is a oyolie quadéilateral.
(iii) Show thal LPRI = LPVAS,

{iv) Herice show thal PM is perpendicular to 4.
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6.

In the dingram above, ABCD iz o cyclic quadiilateral and dingonals AC and B0
snteveect at K. Circles AKX D and AR B arve drawn and it b5 known that Chise
tanment to circle ARD. Let LBDU = .

MoTe: You do not have to copy the diagram above. It has been reproduced for you
on & taae-off sheet a6 the end of this paper, Tnsert this sheet Into your answer booldet.

(i) Prove that ABCLD is jsvsceles,
(i} Prove that C'B is & tangent to circle AKB.
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7. AR snd CD are timpents to both circles and thay infesgect at the podat D
The tangent AB touches the smualler oirele ot 8 and the larger t;m:!u st
The tengent O touches the two cireles st P, ‘

A% b 0 B

Copy the disgram into your examination booklet.

iy  Provathat <RP( iz aright angle,
Hint: rssign promumerala to appropriate angles 1o help you in your proof.

G Is quaddlatersl RPEQ & eyclic quadrilsieral? You muet suppart your suswer
with peometric reasons.
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8.

Yy

D ,

ABC s a triangle inserlbed in a circle as shown above. The biseotor of ZBAC meets
BCin X and the circlo aE I,

iy Prove that AABY NAADC
() Prove that ARAC=ADAX

w (i) Frove that ARAC = AX® & BY XC
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Solutions:

1. st ZLdP=a 2. Construction: Inin X7, ¥ aod MR

o LLBP=/LAR  (/xinthe pame sapmesd on g:o}:;fg; ‘5ﬁ5’=ﬁ:
=g ‘ L £TiO=a fmglesmmaﬂ;ﬁemgk’}
: . . o LXOZ=90 - ¢ (given X7 L PO
 LOBM = LLBP (Vertically apposite Simes £ X200 E.L Bght angk:[g.lg i3 tha dinmewr and
=0

A1 the marre of a aircle possing through X, Zand ©
. & EM=MQ  (eonal redi)
S LOAM = Z0BM  (Zsinthe s sepmentang z:)fZQ £ XG0 — e (imoscelss wisngle)
= 5 ZPER=90 = o [vsrtcolly opposite angles)
: ~ LPRE=96  {angle sum of irlangbs}
o LhdP=204M = MR L PY usrequited

Now LIAM = JLAP+ £LPAM {from b
= LOAM & £PAM
& LLAM = £PAQ,

3.1)

% iLL\L
Tn pisngloa ABC aud AKX, 4. 33 ZuM R = ao” *Z’“Eﬂn’r A O-ﬂc’\k.
AB 24K £ aide
A AE . v @ CLC}\\\)
vl ;iéM' ,A,M
gad the ineluded angle 24 iz cozamon. : ak Ap” )
. RARC I" AMEM  {correpadiig sideadn o
proportion ind ineuded £ nousl}, LB M = 90 ( Yeagank  don 4
W= i diz N
LAEM = £AB (mn‘fif;;;:ﬁi} y wde and cadivs
KJ’I’[; Bl {correspanding £s ove eguall .
: 5 | AE 1 £ cuvde douch ak
The sale vadis — =% {E izths N
AR 2 midpeint of A7), A0 3
lﬂf ~ B
(= gBC - A > )
15 —
But Tﬂ's —E’D {Liathe amﬁmménfﬁﬂ‘l Z HEeR ~ o 0 (.“
KW = EL_ . . ) v
& KMLE in o parsdlologram {una pasirof
opposite mdes orw eyguead and pavallel),

CWERM  and MRQ ® ace

cuche Lo
. . N «
%is RRLP is g myelie puadeilateeal. \ . - . .
- A% Gl O pgile  apdes whdh
ZEPB = ML {exterior 2 ofw oyelis — i of offocie and
spridrilutaral fu oguel . NExvn @y
S pppoaide interiar 2k ard.app b=

‘it Constrost PB and PC
LERAM = S PRA (B, M A ore collimear)
BB £ POA(£75 at cirpumference of civale BP&C‘
standing on some are PA are egitaly
AP = ZPCE (G, 4, L are eallinear}
But PAECE i o eyclio quadeilateral
 LECE= PR 20 at crownforence of eivele PNCL

slanding on same are PL ave sguial)
Moo LPNL= 2PV (N, M, L ave colfinear)

 AEBA L PN

iv. Conbizuet PAL. Then PENM is g cyelic qnadeilateral

. ) v, (sgzm? 2’s subtended by PM at B, N on same side of PM)
i, Opp ﬂ]&ﬂ;ﬁ ajf;glr,:s at Nand [, aro o L PME = £ PNE (L5 af civcumference of circle PENM
SUpplementaty. . standing on same are PE are equal)
Hence PACE 1s aoyelic  SEMB =007 and PMLAR
undrilpteral e '
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7.

ot LORP =
FB = RD (langeats from extorval point £ ays equal)
2 ARDP s isoscales |
LDRP w £BPR=x  (equal base angles.of fsosceles trisngle)
bet LDOP w B
PIv= 00 {tengents from externsl joint D we éfunl) '
< S I Tsoscels ' -
LIPD = L00F =3 {ug};:‘d bigge angles of isuztabey ﬁ‘!ﬂlsg[&j .
LRPY =g+ §
2o w2 f =150 {ang!a sam of ARFE)
Sogdoh F ey
&) ok

{'l M s, Ao = MO B
Goce O |l gam’x Otaw\fr};
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